

WARWICK STATE HIGH SCHOOL 2024 RESOURCE LIST - YEAR 11

The Student Resource Scheme provides textbooks, equipment and resources to members throughout the school year. (The attached list is a basic guide only as texts vary each year). Upon joining, the scheme provides each participant with all the required textbooks and/or class sets for each subject selected; reproduced class materials which complement or substitute for textbooks; a wider range of textbooks, where a single text is insufficient; audio and visual tapes; teacher prepared handouts; access to some computer resources; novels to be read and access to class sets of books; subject materials and many other school resources throughout the school year, as well as a Student diary and ID card. Participation in the Scheme for 2024 is \$230.00. We offer prepayment of the fees and payments can commence immediately. Payments can be made by Cash, Cheque Eftpos, Direct Deposit or if you are in receipt of any Centrelink payments including Abstudy we can set up Centrepay for you. Please see the staff in the Student Resource Room.

Students need to provide their own stationery items, cooking materials and some protective clothing as detailed in the separate *Stationery List*.

IF YOU DO NOT WISH TO PARTICIPATE IN THE STUDENT RESOURCE SCHEME YOU WILL BE REQUIRED TO PURCHASE AND PROVIDE YOUR STUDENT WITH THE RESOURCES LISTED FOR SUBJECTS CHOSEN.

SUBJECT & Resources provided by the STUDENT	Prices indicate cost
RESOURCE SCHEME	at time of purchase
ASDAN	1
Resource books & course registration	\$150.00
Copying/Reprographics	\$150.00
Cooking ingredients	\$80.00
Other resources	\$20.00
TOTAL	\$400.00
ACCOUNTING	
Accounting: An Introductory Framework Units 1 & 2	\$77.95
Photocopying per year (200 sheets A4 @ \$0.10)	\$20.00
TOTAL	\$97.95
AGRICULTURAL SCIENCE	
Dynamic Agriculture NSW Years 11-12 (3E)	\$90.95
Photocopying per year	\$20.00
Soil Conservation Folder	\$12.00
TOTAL	\$122.95
ART	
Creative Inquiry	\$72.95
Materials	\$80.00
Micador Palette	\$5.00
Access to Corel Video Pro & Stop Motion Pro etc	\$100.00
Access to Cameras, Digital Resources, IPads	\$200.00
Photocopied sheets, posters, etc	\$8.40
TOTAL	\$466.35
BIOLOGY	
Biology Australian Perspective QLD Units 1 & 2 (3E) (SB & obook access)	\$69.95
Safety Glasses	\$12.00
Photocopying per year	\$10.00
TOTAL	\$91.95
BUSINESS	

Business for QCE Units 1 & 2: Creation & Growth (Print & Digital)	\$77.95
Photocopying per year (200 sheets A4 @ \$0.10)	\$20.00
TOTAL	\$20.00 \$97.95
BUSINESS STUDIES	\$91.93
Investigating Business, Communication Technologies	\$79.95
Photocopying/Printing (200 sheets A4 @ \$0.10)	\$20.00
TOTAL	\$20.00 \$99.95
CHEMISTRY	\$77.73
Chemistry in Use Book 1	\$65.95
Chemistry for QLD Units 1 & 2 (SB+obook access)	\$69.95
Photocopying per year	\$10.00
Safety glasses	\$12.00
TOTAL	\$157.90
DRAMA	\$10.00
Blackrock	\$19.95
Blurred	\$24.95
Children of the Black Skirt (Currency Play)	\$22.99
Contempory Indigenous Plays (Rainbows End/BlackMedea etc)	\$21.95
Cosi	\$21.95
Cribbie: The Deluxe Edition	\$22.95
Dramawise	\$30.50
Hedda Gabler & Other Plays (Wild Duck) (Penguin Classic) (P/B)	\$19.99
Performance	\$25.25
Ruby Moon	\$17.95
War Crimes (Currency Play)	\$22.99
X-Stacy	\$18.95
Cribbie Live Recorded Performance	\$55.00
Children of the Black Skirt Live Performance	\$150.00
War Crimes Live Performance/Hood Live Performance	\$150.00
Printed scripts and worksheets	\$12.00
TOTAL	\$650.41
EARLY CHILDHOOD DEVELOPMENT	
Childcare & Development 3 rd Edition	\$54.95
Childcare & Development 2 nd Edition	\$50.00
Theory booklet	\$15.00
Materials for Early Childhood activities	\$10.00
TOTAL	\$129.95
ENGINEERING SKILLS	
Materials for workshop projects	\$75.00
Safety glasses	\$10.00
TOTAL	\$85.00
ENGLISH (class sets including textbooks and a selection of novels)	
Appreciating Poetry	\$30.75
The Attack	\$26.95
The Crucible	\$19.95
The Boat	\$20.00
The Happiest Refugee	\$20.00
A Thousand Splendid Suns	\$24.95
Deadly Unna	\$17.95
Dracula	\$10.00
Enjoying Poetry The Heart of Dealers are	\$31.35
The Heart of Darkness	\$14.95
The Hound of the Baskervilles	\$10.00
Jane Eyre	\$16.95
Jasper Jones The Vide Property	\$23.99
The Kite Runner	\$23.95
Looking for Alibrandi	\$12.10
Macmillan English QCE 1 & 2	\$49.95

Moby Dick	\$10.00
News media articles/photocopied worksheets	\$28.00
The One Day of the Year	\$10.00
Oxford Pocket Australian Dictionary	\$27.95
Oxford, The Australian Student's Thesaurus	\$22.00
Pride & Prejudice	\$16.95
Summer of the Seventeenth Doll	\$18.95
This Land – An Anthology of Australian Poetry	\$16.95
Three Australian Plays	\$22.00
War of the Worlds	\$10.00
Wuthering Heights	\$16.95
TOTAL	\$553.54
ESSENTIAL ENGLISH (Class sets including textbooks and a selection of novels)	
On the Jellicoe Road	\$19.95
Black Snake	\$17.95
Hunger Games	\$10.00
The Happiest Refugee	\$18.00
Into the Wild	TBA
Nelson English 1	\$41.95
Oxford Pocket Australian Dictionary	\$27.95
Oxford, The Australian Student's Thesaurus	\$22.00
Photocopying	\$28.00
Scrapbook	\$3.00
MacMillan Essential English QCE 1 & 2	\$34.95
Workplace booklet (36 pages)	\$3.60
TOTAL	\$207.40
FASHION	
Photocopies worksheets and handouts	\$10.00
Textile requirements	\$60.00
TOTAL	\$70.00
FURNISHING SKILLS	
Safety glasses	\$10.00
Materials for workshop projects	\$110.00
Photocopying per year (B&W 80 sheets A4 @ \$0.10)	\$8.00
TOTAL	\$128.00
GEOGRAPHY	
Jacaranda 8 th Edition Atlas	\$59.95
Jacaranda Senior Geography 2 for QLD Units 1 & 2 Print/eBook Plus 3E	\$89.95
Photocopying per year (200 sheets @ \$0.10)	\$20.00
TOTAL	\$169.90
HOSPITALITY (Class sets of recipe books and textbooks including)	
Australian Womens' Weekly series of cookbooks	Each \$12.95
Access to cooking magazines	Each \$5.00
Basic Principles of Catering	\$40.50
Catering Towards a Career	\$45.00
Day to Day Cookery	\$36.95
Hospitality: The Essentials	\$33.00
Theory booklet	\$10.00
Uniform	\$50.00
Apron	\$10.00
Group work ingredients	\$50.00
Recipe booklets	\$10.00
TOTAL	\$303.40
JAPANESE	
A Guide to Reading and Writing in Japanese	\$39.95
Furigana Japanese-English Dictionary	\$59.95
111 omo Senior Book With Reader + 2E (2019)	\$59.95
iiTomo Senior Book with Reader + 2E (2019) Mirai Japanese Course Book – Stage 5 (2 nd edition)	\$59.95 \$45.00

Oxford Japanese Starter Dictionary	\$34.95
Photocopying	\$12.00
TOTA	L \$251.80
LEGAL STUDIES Legal Studies for OLD (2F) (Brint and Disital)	¢90.05
Investigating Legal Studies for QLD (2E) (Print and Digital)	\$89.95
The Australian Legal Dictionary (Marantelli, Tikotin) The Queensland Law Handbook – 10 th edition	\$14.00 \$77.00
Photocopying per year (200 sheets @ \$0.10)	\$20.00
TOTA	
ESSENTIAL MATHEMATICS	E \$200.73
Cambridge Essential Maths QLD Units 1 & 2 (Print & Interactive)	\$74.95
Graph Paper	\$10.75
Worksheets/Handouts	\$20.00
TOTA	
GENERAL MATHEMATICS	
Cambridge General Maths QLD Units 1 & 2 (Print & Interactive)	\$74.95
Graph Paper	\$10.75
Worksheets/Handouts	\$20.00
TOTA	L \$105.70
MATHEMATICAL METHODS	
Cambridge Mathematical Methods QLD Units 1 & 2 (Print & Interactive)	\$74.95
Graph Paper	\$10.75
Graphics Calculator – TI-CX NON-CAS	\$209.00
Worksheets/Handouts	\$20.00
TOTA COPECIALICE MATHEMATICS	L \$314.70
SPECIALIST MATHEMATICS Cambridge Specialist Maths QLD Units 1 & 2 (Print & Interactive)	\$74.05
Graph Paper	\$74.95 \$10.75
Graphics Calculator – TI-CX NON-CAS	209.00
Worksheets/Handouts	\$20.00
TOTA	
MODERN HISTORY	
Senior Modern History for QLD (Print & Digital)	\$79.95
Global Voices	\$54.95
Legacies 1: The Modern State, Nationalism & Internationalism	\$42.30
Legacies 2: Australia & Asia: A Changing Relationship	\$42.30
Inquiry 1	\$59.95
Photocopying/printing (200 sheets A4 @ \$0.10)	\$ 20.00
TOTA	L \$299.45
ARTS IN PRACTICE	******
Access to Corel Video Pro Moviemaker	\$106.00
Video Camera	\$200.00
Digital Still Camera Microphone	\$80.00 \$80.00
Photocopying	\$5.00
ТОТА	
101A	57/1.00
MUSIC	
In Tune with Music 3	\$60.95
In Tune with Music 3 – Score Reading	\$85.95
The Norton Scores Vol 1 – 8 th edition	\$89.05
The Norton Scores Vol 2 – 8 th edition	\$91.77
Pocket manual of Musical Terms	\$10.95
Printed handouts	\$20.00
TOTA	L \$358.65
PHYSICAL EDUCATION	
Macmillan Physical Education QCE Units 1 & 2	\$64.95
Photocopying per year	\$12.00

	TOTAL	\$76.95
SPORT AND RECREATION		
Resources for class activities		\$8.00
Photocopying/printed worksheets		\$12.00
	TOTAL	\$20.00
PHYSICS		
New Century Physics for QLD Units 1 & 2 (SB+obook)		\$69.95
Electronics kit		\$80.00
Safety Glasses		\$12.00
Photocopying per year		\$10.00
	TOTAL	\$171.95
SOCIAL AND COMMUNITY STUDIES		
Photocopied handouts and worksheets (200 sheets A4 @ \$0.10)		\$20.00
	TOTAL	\$20.00
TOURISM		
Photocopied handouts and worksheets (200 sheets A4 @ \$0.10)		\$20.00
	TOTAL	\$20.00
VISUAL ARTS IN PRACTICE		
Materials for classroom activities		\$80.00
Micador Palette		\$5.00
Photocopying		\$10.00
	TOTAL	\$95.00

Under the Education (General Provisions) Act 2006,

- The cost of providing instruction (teachers' salaries), administration and facilities for the education of a student at a state school is met by the State.
- The school is not responsible for providing textbooks, in-class consumables and personal resources for students.
- Parents/caregivers are directly responsible for providing their student with textbooks and other resources while attending school.

Current June 2023